AN ~ - == SN ~ s r = — EE— SEZA o ~ — A2 L
BI5(Z MNILELFREIB [ﬁéa& EXDHEICETHHEMEDT 7 mmajot)]
- S = SEQRERIEE (11828 AbEE

100 o —
90 (BA{i: %)
?g 66.7

60 60.1 - 52.2

50 354 32.4 ]

40 — 255 25.7 22.8 29.7

38 19.1 16.315.9 155 - 17.8 15.8 16.513.9 | | 16.1
N 6.9 21

10 H [ ﬂ H ﬂ % ﬁ # ﬂ %

0 ;17 | | | |:| | | | | | | | | —II: | | | { [ o |
#H R HEEHREHRDMNDDEBEBRGFILIESZEE F E R
s Eg s AR REFEERS & E
ERREERERLLDEREERNRERAREEEE
i it EEEEERERDEE RS RS D

i® % ¢ i B
W)
=
it
SEMNWERRE
100 (41 %)
90 81
80
70
60
50
40 36.8
30 16.2
: - ——
0
i 1 15 % i
3 # B D [a]
: i3 1% tt &
o3 2 =
B & .
=] A =
i & =
| i
H




